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B. Answer any four questions : Sx4=)¢
1. Mention any five characteristics of permanent
tissue. 5
2. Diagrammatically present the transverse section of
a dicot stem explaining different parts of it. 5

3. What is apomixis? Define apospory. Write down
any two benefits of apomixis. 2+142

4. Draw and describe the process of double
fertilization in angiosperm. 5

5. Me'nnonthecharactemby which a root apex differs
from a shoot apex. 5

6. Mention the differences between heartwood and
sapwood. 5

C. Answer any one question : 10x1=10

1. What do you mean by endarch and exarch xylem?
Where do you find them? What is meant by open
and closed vascular bundle? Define interfascicular
cambium. 4+2+2+2

2. Mention any five differences in adaptation of
xerophytes and hydrophytes. Discuss, in brief, the
embryo endosperm relationship. 5+5
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